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ASY 0.1kmi 78,290
hEEH]RL ~XIL500 BS>Y 0.1kmi 65,260
c5v% 0.1km 52,220
ASLY 0.1kmi 86,730
R EHRL X JL500 (TSHfiZ =) BS54 0.1km 72,240
c32y 0.1km 57,760
ASY 0.1km | 123,470
RIERL NILS500 (EHL—FHIE) [BSVY 0.1kmi 102,910
c5v% 0.1km 82,340
ASLY 0.1kmi 71,200
X {EERL X JL500{E1E BS54 0.1km 59,300
c5v49 0.1kmi 47,390
ASY 0.1kmi 42,670
EEHRL NJLS00EIE I BS>Y 0.1kmi 35,600
c3v% 0.1km 28,520
ASLY 0.1kmi 21,440
HE1EH]RL ~XJL1000 BS54 0.1kmi 17,840
c5v4y 0.1kmi 14,260
ASY 0.1kmi 19,750
HEEH]RL X)L 10008 1E BS>¥Y 0.1km 16,500
c5v% 0.1kmi 13,240
ASLY 0.1kmi 11,780
HE1EH]RL ~XJL1000E1E I BS54 0.1km 9,860
c5v4y 0.1kmi 7,900
ASY 1kmi 47,840
hEIEH]RL ~XIL2500 BS>¥Y Tkm 39,860
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HhX1EERL XL 250018 1E BS54 1km 35,940
c32y 1km 28,750
ASY 1kmi 26,050
R EHRL R JL2500&1E I BS54 1kmi 21,670
c5v% ki 17,280
ASLY 1k 16,950
HX1EH]RL ~XJL5000 BS54 1k 14,140
c5v49 1kmi 11,300
ASY 1kmi 11,300
hEIEH]RL X JLS5000E1E BS>¥Y Tkm 9,420
c5v% ki 7,540
ASLY 1k 6,800
HhX1EERL ~XJLS000E1E I BS54 1km 5,660
c5v49 1kmi 4,520
ASY 0.1kmi 35,290
HEEEHL X)L 5008% L HE{E L BS>Y 0.1kmi 29,410
c3v% 0.1km 23,540
ASLY 0.1kmi 9,630
R EHRL )L 10008E A K k& 1t BS54 0.1km 8,020
c5v9 0.1kmi 6,430
ASY 1kmi 20,770
i FEERL X)L 250085 A % fiE 1t BS54 1k 17,280
c5v% ki 13,800
ASLY 1k 6,600
R 1EHRL X)L 50008 A K & 1k BS54 1k 5510
c5v4y 1kni 4,400
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ImBEUsmI YR T—4 1km 2,580
EFERL XJL1000 km 4,350
FEEMR(HAR) i FEERL X )L2500 1km 1,730
E{FERL XJL5000 1kmi 790
HEiFEHRL NIL500 1km 14,930
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